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If an article is sold for Rs. x, there is a loss of 37.5%. If the same article is sold for Rs. y, there is a profit of
12.5%. The ratio of y2 to x? is:

Tfe Bl %] x ¥0d H &1 91l B, A1 37.5% &1 I gldl g1 afc 341 a¥d Dl y ¥Ud H &1 SIdl 8, <l 12.5% BI
ATY BIAT 8 1 y2 31R x2 &l 3{Uld

A.81:25
B.49:25
C.94

D.25:16
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Sum of the ages of a mother and her daughter is 54 years. 3 years ago product of their ages was 38 times
of age of daughter then. What is difference between their ages?

U A1 3R 3! Tl bl I BTG 54 98 g1 3 98 Gd 3! g BT UG, TAT DI 311G BT 38 T UT| 3!
3 & &I Bl 3R FT18?

A.28
B.13
C.16
D.24
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If the volumes of two cubes are in the ratio of 27:64, then what is the ratio of their total surface areas?

gic &l Y-l 1 3Ad- 27:64 & UM § B, 1l 3% $dl GyIg &A%l Dl SUId -l SR

A.9:16
B.4:5
C.16:25
D.64:125
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An importer sells speakers to retailers at 12% profit, and they sell the speakers to customers to earn 20% profit. If a
customer gets a speaker for Rs. 16128, then what is its cost to the importer?

U TP 12% P A4 W QeI fasharafi DI W= §9a1 &, 3R d 20% TH DHH & o7 U5h! Dl Wi §4d g | i fhell
ED DI 16128 39U T Wi {Tdl &, T TGP BT ArTd Hed I1d Y|

A. 11000
B. 13000
C. 12500
D. 12000
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Sumit and Rohan started a business by investing the amount in the ratio 7 : 9. After 10 months Rohan leaves the business
withdrawing his investment. In the first-year business made a profit of Rs. 23142. Find the share of Rohan in this profit.

G SR UG A 7: 9 & 3UId B A BT Ha% Hdb U ouad = (11 10 Tl & a1 s = 301 a2 argy o fean
Jgcl 91l & PRIGR H 23142 304 DI 1Y §34T1 39 o1 H g DI [gH1 J1d Biforu|

A.12 240
B.11, 245
C. 11,970
D. 13,060
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The area of a rectangular plot is 2475 m? and the ratio of length and breadth are 11:9, respectively. Find the cost of fencing
the plot at the rate of Rs. 8 per metre.

U SOAIPR YES DI &Ahd 2475 01 HIcR § 3R Talg 3R 185 D1 SUId Ha: 11: 9 51 8 30U Uid Hiek & &R U 59 &S
R &S T &I AT JTd hifoi |

A. 1800
B. 1600
C.2100
D. 1200




FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E06321 /

A man could not decide between discount of 30% or two successive
discount of 25% and 5 %, both given on shoping of Rs.2000. What is the
difference between both the discount?

U 3ATGHI 30% I B AT 25% 3R 5% Pl &l thitldh B¢ & dig Byl gl
PR Ghdl, T Bl F. 2000 &I TRIE W &1 711 SHI g & §iF 3R A1

8?

a) s.20
b) is.15

c) lodifference
d) ts.25
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Original breadth of a rectangular box is 20 cm. The box was then remade

in such a way that its length increased by 30% but the breadth decreased

by 20% and the area increased by 100 cmZ. What is the new area of the
box?

U AHGAISR SIa9 I Ho dIgls 20 41 g1 79 didg $I 59 e I §-11]
a7 T fdb SHB! dalg 30% S¢ T3 dich dISTg 20% HH 8l 7T AR & |

100 THI2 D1 gig g3 | ST &1 =147 &F 1 52

a) 500
b) 200
c) 600

d) 400
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The perimeter of a square is equal to the perimeter of a rectangle of
length 16 cm and breadth 14 cm. find the circumference of a semicircle

whose diameter is equal to the side of the square?

U ¥l o1 Uiy da1g 16 THT 2R TISTg 14 JHI BT 31T &I URIY & SRIER
g1 egd &l URfY J1d &< g1 A a7 & BN & SRR 37

a) 157 ¥
b) 1.57 TH
c) 3.56 TH
d) 557 9H
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A trader marked up his article 25% more than the cost price. If he offered

a discount of 10%, then what will be his profit percentage?

U AR A AN Hed 9 25% 3H8E U 9% 1 3ffdhd oo Muid faar
giG 3T 10% DI BC Bl UDHR I, I IHDT ATH Yd=Id H1 EI?

a) 0%
b) 2.5%
c) 5%

d) 7.5%
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The LCM of two numbers is 168 and their HCF i1s 12. If the difference

between the number is 60, what is the sum of the number?

& Gw@reff &1 LCM 168 & 2R 39&T HCF 12. 21 gfe 9T &1 3fav 60 &, d
TR 6T I 7 672

a) 12
b) 64
c) 08
d) 22
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The product of two numbers is 6760 and their HCF is 13. How many such

pair of numbers can be formed?

&1 GBATHT BT UFH A 6760 © 3R 3-Th1 HCF 13. AT fdhdHl 87

a)
b) 3
c)

d) |
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If a sum becomes Rs.1460 in two year and Rs.1606 in three year due to

the compound interest, then annual rate of interest is ?

afg g1 a9 7 +.1460 3R fi7 a¥ & ¥.1606 IhafG SaT1 & HRUT 81 Ol &,
i aTftfes =aTo &2 9471 872

a) 0%
b) %
c) %

d) 1%
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Rs.15000 was invested by A and B together to start a small business.
They got a profit of Rs.2000 at the end of the year. B took his profit share
of Rs.600. How much did A invest?

¥.15000 T A 3R B 7 l0HR U BICT HaHE Y [hdl| 3¢ a8 & 3Hd
H ¥=.2000 BT @H fH@T1 B 5 +=.600 &1 201 @1 fe=gr foran) A= foan

BERNER]
a) !s.9000
b) 's.2000
c) 's.10500

d) 's.10000
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A steel vessel has a base of length 60 cm and breadth 30 cm. water is
poured in the vessel. A cubical box having the edge of 30 cm is immersed

completely in the vessel. By how much will the water rise ?

T & 99 DI TaTs 60 HHI 3R dIels 30 A eidl 81 g+ H gl Sral
STl 21 30 YHl & 1R d91ell Ush UHTeR didd 11 die § §d- H gal g 2|
gl b dHT e

a) 2cm
b) 5cm
c) Ocm

d) cm
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A speed of caris increased by 2 km/h after every one hour. If the distance
travelled in the first one hour was 35 km, what was the total distance

travelled in 12 hours ?

S US °¢ & 9I¢ R B 1id 2 fHH! / HeTd¢ oildl g1 gic ggdl U °¢ |
AT 1 g3l 35 Tl ot df 12 °9¢ | 70 &1 715 T gl fbait 4t

a) 60 km
b) 50 km
C) 58 km
d) 102 km
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The average of 8 consecutive integers is 23/2. What is the average of

first three inteqgers?

8 TITAR YUlich! ST {19 23/2 €1 Ugd A UITeh| ol ATHd &1 872

a) }
b) 19/2
c)

d) 10
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A and B started a partnership business investing in the ratio of 2:5. C
joined them after 3 months with an amount equal to 4/5th of B. What
was their profit (in Rs) at the end of the year if A got Rs 16,800 as his

share?

A SR B 2: 5 3UId H U HIHGR! Haq™ Y BTl C A 3 HgH &
qG 38 B & 4/5 S SER AR & WY ST a8 & 3 J I7h1 ary (31 H)
1 U1 TG APl 37 e & &9 H 16,800 TUY freqd?

a) 5000
b) 08000

c) 4000
d) 10000
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A is as efficient as B and C together. Working together A and B can
complete a work in 36 days and C alone can complete it in 60 days. A
and C worked together on it for 10 days. B alone will complete the

remaining work in?

A, B3R C & G ol @ 2| A 3R B TH T1Y & $P 36 &A1 H U
T R B Gohd ¢ AR C bl 54 60 G T R AR Thdl g | AAR C
10 f&-1 I U 1Y DH1H 6 Gdhd ¢, B Hbdl Y BT ol G HHM?

a) 10fe
b) 8fad
c) 4fcA
d) ofeq
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N solid metallic spherical balls are melted and recast into a cylinder rod
whose radius is 3 times that of a spherical ball and height is 4 times the

radius of a spherical ball. The value of N is?

N 3 YT MATHR TSl Bl [UHdA H saIeR Gl H [t I Tl Al
¢ o a1 ISR (G &1 3 71 5 3R FHdls AR (G & A1y
ATATE | N ST HME 87

a)
b)
C)
d)

D A~ O
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A shopkeeper allows 18% discount on the marked price of an article and still
makes a profit of 23%. If he gains T 1840 on the sale of the article, then what is
the marked price of the article?

Uh GHIGR Udh a%] & (digd Jod UR 18% Bl FHe adl g AR T ot 23% &1 @
HAC ¢ | Af¢ 98 9% ®I fah] IR T 1840 WY UK IRl &, a1 9 &1 [ufgd e o

87
a) 14000
b) 12500
c) 12000
d) ‘14600




%déeamd/// FOR MORE DISCOUNT VISIT WwWw.mahendras.org & USE PROMO CODE : E06321 /

The curved surface area and total surface area of a cylinder are in the ratio 7: 13 respectively. If the volume

of the cylinder is 6336 ¢m3_ then the height of the cylinder is

U S $I dep JF &bl 3R Dol Hdg &t DAL 7: 13 & JUId # T 1 AfE §ef BT 3Mad 6336 T &,
dl Sied ®l HdTls o:

g8cm

12 cm

14 cm

18 cm
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